Acetone
Response Ratio
1.2

Amount Ratio

Resp Ratio = 7.32e-002 * Amt + 2.30e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W101518S.M
Calibration Table Last Updated: Tue Oct 16 13:56:35 2018




Methylene Chloride
Response Ratio

1.2+

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 4.24e-001 * Amt + 1.43e-002
Coef of Det (r~2) = 1.000 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W101518S.M
Calibration Table Last Updated: Tue Oct 16 13:56:35 2018




